
Super 6 Challenge 
January week 1 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Draw a line to match each word to the correct 
suffix to make an adjective.  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 A helpful little worksheet from TransferReady.co.uk 

-3 + 8 = 5°C 

[There are 6 periods of 10 seconds per minute]  

7 x 6 x 2 = 84 sit-ups 

 46 x 28 = 1288  

1288 – 80 = 1208 

           1208 people 

[hint: a vertex is a corner] 

5 vertices 6 vertices 

4 vertices 
8 vertices 

8 cm 

4 cm 

After you find the missing sides… 

p = 11 + 10 + 3 + 4 + 8 + 6 

p = 42 cm 


